
Bell Work





Evaluate 𝑓(𝑥) 	= 	−4𝑥	 + 	7	when 𝑥	 = 	2	and
 𝑥	 = 	−2.



Evaluate 𝑓 𝑥 = 2𝑥 + 1 when 𝑥 = −4, 0,½



Evaluate g 𝑥 = −𝑥 − 1 when 𝑥 = −4, 0,½





Solving for the Independent Variable 

For ℎ 𝑥 = !
"
𝑥	 − 	5, find the value of x for which 

ℎ(𝑥) 	= 	−7.



Solving for the Independent Variable 

For g 𝑥 = #
"
𝑥	 − 2, find the value of x for which 

g(𝑥) 	= 	−4.



Solving for the Independent Variable 
For f 𝑥 = 6𝑥 + 9, find the value of x for which 
f(𝑥) 	= 21.



Graph 𝑓(𝑥) 	= 	2𝑥	 + 	5.



Graph 𝑓 𝑥 = 3𝑥	 − 2.


